«KBAAPATUMHAA PYHKLLUAY
UTOTOBbIN YPOK




YCTHAA

PABOTA




a—"? (<0,>0)
c—?7(<0,>0)
A—?7(<0,>0)

f(x) > 0npux €
f(x) < 0npux €

f(x) » npux €
f(x) N npu x €




a—"? (<0,>0)
c—?7(<0,>0)
A—?7(<0,>0)

f(x) > 0npux €
f(x) < 0npux €

f(x) » npux €
f(x) N npu x €




NI4765-

J4567 8310

a—? (<0,>0)
c—?7(<0,>0)
A—-? (<0,>0)

f(x) >0npux €
f(x) < O0npu x €

f(x) 7 npux €
f(x) N pu x €




25 3354455056007

a—"? (<0,>0)
c—?7(<0,>0)
A—?7(<0,>0)

f(x) > 0npux €
f(x) < 0npux €

f(x) » npux €
f(x) N npu x €



a—? (<0,>0)
c—? (< 0,>0)
A—7? (< 0,> 0)

f(x) > 0npu x €

f(x) < 0npu x €

f(x) 7 npux €
f(x) N npu x €




a—"? (<0,>0)
c—?7(<0,>0)
A—?7(<0,>0)

f(x) > 0npux €
f(x) < 0npux €

f(x) » npux €
f(x) N npu x €




PABOTA C YYEBHUKOM
moeoebiu mecm

(cmp. 54) - | eapuaHm




a)

B Ha 60°

B) Ha 40"
r)6 MMH - 12

MY TL TEeMnepaTypa
- T’

Bpems —t.
10t,0 <t <6
T(t)={60, 6<t<12
~5t+120, 12<t<20







HOMALUHEE SALOAHUE
Tecm (Il eapuaHm) (cmp. 54)

HononHumenbHo: N231,32 cmp.30
(culegere)







